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AN UASAHD
Ha: =0l #F Mo £
ool pEHIAHIA B CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SgUd X 10,220 2,820 7,400
201 £B-2d| 8,600 1,200 7,400
01 At 22l 8,600 1,200 7,400
OQJASHE HHl M= 25,000& * 80% 2,000
Od&d Moot Ol =& M
330& = 20,0008 6,600
202 o4dl 1,620 1,620 0
01 = LH o4 1l 1,620 1,620 0
QlRHel NHDS &A
81,000& = 2 * 2& * 53 1,620
IESH2HSEARAE 3,805 19,068 A 15,263
= 3,334
Al 471
201 ¢4l 2,347 2,412 AB5
= 2,200
Al 147
01 At 22l 2,200 2,200 0
ONZRHSE Aaloly
1,000& = 108 = 50& * 23| 1,000
= 1,000
ONFHAHSE MRINI 225 7Y
300,000& = 2& ~ 13/ 600
= 600
ONEZAHEE ARIID| ==2ltl
300,000& = 13l 300
= 300
OINEHHEE MRES F¥
150,000 * 23| 300
= 300
02 =224l 147 212 AB5
OJNZAHESELR LAY SH I
49,000& = 39 147
202 oddl 1,458 1,458 0
= 1,134
Al 324
01 = LH o4 1l 1,458 1,458 0
ONFZAHSSHIN HNE
81,000& = 1H * 1 * 143l 1,134
= 1,134
ONZHSER FF U
81,000& » 1H * 1& * 43 324
ozads 29 4,447 4,470 A 23
201 ¢er24| 3,799 3,822 A 23
01 At 22l 3,747 3,747 0
onzdds 228 P2 1,047




2A: A2 AL
Ha: =0l #F Mo £
ool BIEMIANUIA B EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OWAAHY M2 900 = 3,0000H 2,700
02 2324 52 75 A 23
OWILR dR2H A= B H S HI
26,0008 » 2H 52
202 044l 648 648 0
01 2L Y| 648 648 0
OREYEZ YL
81,000 x 2% x 22 x 23] 648
QX Ao XN=EX EMH A = 32,551 31,483 1,068
DI/A=SA s A 32,551 31,483 1,068
NEXt MM SA 32,551 31,483 1,068
201 LBt 27,551 26,483 1,068
01 AP 22| H| 5,660 4,460 1,200
OXS X2 A AL Ol A
200& * 10 = 1,500% 3,000
OXSX HIIZAF Ot EAAM HE
2008 « 2= « 1,5008 600
OXNsSx HABE 20 2N HZ
2008 « 2= « 1,0008 400
oz P2 80& = 1,000 80
OXNSX Mg =32 E22 ME 1,080
o=HE 49 60,000 = 401 = 23] 480
oEHOLE 40& * 15,0000H 600
ONMY X st 99Xz HZE
500& = 1,0000H 500
02 224 H| 21,891 22,023 AN 132
OS2 MEE DA RER2
1,000,000& * 12& 12,000
OHSTIAIANAYE T2 S22
250,0008 ~ 12& 3,000
OREBENsSA 459 ZT20d A2
300,0008  12& 3,600
OXNHEHR LAzl 2H 3|
145,500 * 29 291
OXgS A 22l 250,000& = 104 ~ 12€ 3,000
202 04| 5,000 5,000 0
01 2Ll 5,000 5,000 0
ONSHES L SAHILR 8
60,000& * 29 * 2L % 153 3,600
ONMY X e 9XHL=X
10,0008 = 2% » 70 1,400
N&EHAY) EXNAEE S 542,974 710,576 A 167,602
= 43,000
Al 499,974




SH: B ALD
Ha: NNBIDY EXNFLs
&©: S FES (cho &)
= _ = d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2 238t 234,562 225,387 9,175
E2EFAAY 44,158 42,085 2,073
201 LEr2A | 4,320 4,320 0
01 At2 22l bl 4,320 4,320 0
OZ2YZLANS &4
70,0008 = 8H * 23l 1,120
OzH=4 822 MA 2,000& * 1,00004 2,000
OZEYFA BIAMRII| 228 29
300,000& » 45 = 12 1,200
202 Oddl 1,944 1,944 0
01 SLHOYI 1,944 1,944 0
OZEYFANY PRE
81,000% » 2% » 3 = 43 1,944
308 MHXIHMS0IH 13,704 11,631 2,073
10 SJ12S0lCHetE & = & A& I 13,704 11,631 2,073
OE2g=A JI2k szl 1,232
ORF4 FBALY X2l L SYXA(
2OEBRAAY) 12,472
401 AIEBIZ S CHYI 24,190 24,190 0
01 A€ HI 24,190 24,190 0
OE2YZL SHYANLE R 22,500
oRANEX(CZHE 1,733, JI=HS T 998,
A28 9,204) 15,000
od A& 250,000& * 304 7,500
Od=sgsa MA 6,600& * 15004 990
OHERSE AEXN 7¢ 700,000& * 12 700
SUHEZANAESS 2.2 185,007 164,969 20,038
201 €24 92,924 86,702 6,222
01 AFR2t2l | 1,000 1,000 0
OANEE 8= A2572¢E 1,000
02 3222l 91,924 85,702 6,222
OGISANAE AZEQAH(6T) RANES
693,749,156 * 9% 62,438
OGISAIAE StERIN (128) |FAE=
314,814,800& * 9% 28,334
ONMFaa g28s)l R4
96,000& » 12& 1,152
202 044l 2,592 2,592 0
01 SLHOYI 2,592 2,592 0
OBAIE ALEZX
81,000& = 29 » 28 « 83 2,592
207 & 51 OH & Hl 5,400 0 5,400
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HE: NN

A ol EXNXES
Sl B F23 (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 & AHJH Y| 5,400 0 5,400
OAMHEI MM 0sg 1ol 5,400
401 Al HI L £ 0HHI 84,091 75,675 8,416
01 Al& H| 83,340 75,000 8,340
OEZJ|IBXIGIAIEZE BHSXE 25
8,334,000 = 10km 83,340
03 AlE £ 0HH] 751 675 76
OEZJ|BHXIGIAIEE2 AFE 20|
83,340,000 * 0.9% 751
ESHAESEEEAAE 2H 5,397 18,333 N 12,936
201 gEt24Hy| 5,397 6,019 N B22
01 AP 22| d| 1,000 1,000 0
ORSHEESR ¢33 228 7Y 1,000
02 2%l 4,397 5,019 N B22
OEXOIS2(ZANHE QKA A2HjAzHOl ZF
3 dl 198,500& * 29 397
Ost=2EXNEHEAAE K22
2,000,000& = 23] 4,000
ANEHE MHIA &A 89,948 49,631 40,317
HE Z2AI X ZE I 27,970 25,958 2,012
201 et 9| 26,026 24,014 2,012
01 AP 2t 2] H| 21,415 19,482 1,933
ONEXIIN a2
41,5808 ~ 26,0002 X| / 53.6 / 2 10,085
Ol 2 0l E AE442
1,580 * 2402 X| = 50% / 2 2,495
OMEXAN HE 25,000& = 170 = 425
OZsEH ¢ ADE 2 250,000 * 4= 1,000
O9A & 0|9y g8 &9 HE
60,000 * 8 A * 43| 1,920
OXotges HE 20,000& * 98 x 23| 360
OSSHEIIAS Haay
70,000& * 11 = 53| 3,850
OZEEXNSE 21 80& x 16,000= 1,280
02 B232%H| 4.611 4,532 79
OMNEZAIXI Z2HEXNZ2 £E52=2
270 * 16,000 4,320
OMNE ZAIXRIIEOIN L2HAZHA B S |
290,100 « 1H 291
202 04| 1,944 1,944 0
01 2Ll 1,944 1,944 0
OMNEZ2AIXI d2=F&
81,000 * 2% * 22 « 63| 1,944




SA: UREA
3l

t
A M
ool NHBY MHIA 4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EX e & B 3,312 2,992 320
201 £B-2d| 2,352 2,512 A 160
01 At 22l 2,000 2,000 0
OMNLHIEMLE =2 800,000& * 23 1,600
OEX &2 & BSAUYR ARII A2F 4
& 200,000 = 2& = 13/ 400
02 2324l 352 512 A 160
ORSttcHE el LREHaZY Z Xt
176,000& + 29 352
202 044l 960 480 480
01 = LH o4 1l 960 480 480
ORS4t el o e A & HEXHZ2
20,0003 = 2% = 243 960
B RS RaS 32,340 2,340 30,000
201 ¢4l 2,340 2,340 0
01 At 2t 2l 2,340 2,340 0
OBREXNSE 2E Haloy
2,000& = 108 » 25& 500
OZBREXNSE 95| HaLg
70,000 * 6% = 23| 840
OSREXNZE 2282 MH
60,000& = 10002 = 13 600
O=xe&ds| =l 200,000& * 23 400
207 RO 25,000 0 25,000
02 & AHIH I 25,000 0 25,000
020144 ~ 20169 KNI E=2 AN & A&tst
25,000,000& * 14 25,000
401 A& HIZ 201 8] 5,000 0 5,000
01 A& HI 5,000 0 5,000
OXNELIEXel =] 500,000& = 102 X 5,000
&Y EXNHE 26,326 18,341 7,985
201 Let24d] 22,582 3,697 18,885
01 At 2teltl 22,185 3,118 19,067
ONXZgy JIEHMR 242
100,000& * 200& 20,000
ONXEY EAMY 42F 7
430,000& = 28 860
OZOAN L NNSYZYE HOH B
35,000 * 1504 525
OFgJIl d5 IJISM =2
400,000& * 2CH 800
02 232gHl 397 579 A 182




SN QIS AD
M XNEHHY EXNELDS
Sel NIHEY MU~ B4 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXNE=2H N T HA S20azH 23 H|
198,500 * 29 397
202 04| 3,744 4,144 AN400
01 2L I 3,744 4,144 A 400
OX=pe YLxx
81,000& x 28 * 22 x 63 1,944
OXNE=2HA & EX0SKX XA
10,000 = 2% x 903 1,800
INESEES 218,464 435,558 A 217,094
= 43,000
Al 175,464
K= THZEAFARS (KEA) 170,686 383,335 A 212,649
201 et 9| 18,694 5,320 13,374
01 AP 2t 2| H| 16,694 5,320 11,374
OXNEEMMEAIRI RS, 2HZEAKYL &L
70,000 * 14Y « 23| 1,960
OXNEMEZA EE(B4Y S) 22 ol
60,000 * 8 A = 23] 960
OXNEZSLEE X F=0UALHF N
200,000& * 23| 400
OHYNT ZH2 LW 422
44 5803 * 1502 X = 20402 13,374
02 222%4| 2,000 0 2,000
OXNEMEA SASKNAN RER2
200,000 = 1038l 2,000
202 044 1,992 0 1,992
01 2L Y| 1,992 0 1,992
ONEMEA SOAM 27 L FHEO
83,000 = 2% % 22 % 63 1,992
301 et A= 150,000 378,015 A228,015
11 J|EtE A2 150,000 378,015 N228,015
OXEMEAISEY XF3Z2 150,000
oyt x| P 1,500,000& = 100 X| 150,000
X &= THZEAFAIES 47,778 52,223 N4 445
= 43,000
Al 4,778
401 AlEHIZL 2 0HY| 47,778 52,223 N4, 445
= 43,000
Al 4,778
01 Al&EH| 47,778 52,223 N4 445
OE AKX 7 X &M EA S EFH| 47,778
= 43,000
Al 4,778
HAESAHAY (LS ALY 156,706 103,569 53,137




A QIS AL
. HE2G A (U S AL
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 38,520
Al 118,186
ol 2 gl 51,654 23,077 28,577
= 38,520
Al 13,134
QIARHH (NS HSESARX ) 25,518 0 25,518
= 21,497
Al 4,021
101 14 Hl 25,518 0 25,518
= 21,497
Al 4,021
03 RIAHAZZAE S 25,518 0 25,518
O INE2AHSEE? 22X E= 25,518
o JleEg 1,153,650& » 1H » 128 13,844
= 13,844
o dN3 1,153,650& » 1H * 400% 4,615
= 4,615
o NA&TASE 160,000& » 12& 1,920
= 1,920
o FHHFAY| 120,000& * 12& 1,440
= 1,118
Al 322
o Qg 100,000& » 12& 1,200
o JtAHE X 30,000& = 12& 360
o HEFIHI 1,153,650& * 55% * 23| 1,270
CcHXUFIIE 72,3683 « 12¢ 869
OIARHH(MAL 2R I 2F) 26,136 23,077 3,059
= 17,023
Al 9,113
101 14 dl 26,136 23,077 3,059
= 17,023
Al 9,113
03 RIAHAZZAE S 26,136 23,077 3,059
OELSEF 22X B 26,136
SPIEt=| 1,188,530& » 1%H » 128 14,263
= 14,263
o3 1,188,530& » 1H * 400% 4,755
= 2,760
Al 1,995
oMATHSH 160,000& = 1H = 123 1,920
o ZUGAH| 120,000& = 1H = 12& 1,440
cQlF¢ 100,000& = 1H = 123 1,200
o H A F I 1,188,530& * 55% * 23| 1,308
= JHH 2 X4l 30,000& = 12& 360
CcHXUFIE 74,1123 « 12 890




SN RAZAD
M HHE2IAH (LASADL)
chel: ol gyl CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
el 2| 78,424 53,864 24,560
AHA2HH (RIS ALY 78,424 53,864 24,560
101 124 4] 78,424 53,864 24,560
03 RIAHAZZ2XNE = 78,424 53,864 24,560
ONSiHSEEAE2E 22N B 52,906
oJlEs 28,957
- 588 1,188,530& = 198 « 12& 14,263
-2 1,224,460% » 1€ » 12& 14,694
o= 28,957,000 * 1/12 = 400% 9,653
oXUFA+E 160,000& » 2 = 12& 3,840
ocdASAHI 120,000& » 2& = 12& 2,880
ocQiAE 100,000& » 2 = 12& 2,400
o JHAH 2 & Hl 30,000& = 2& « 128 720
o EF Iyl
28,957,000& * 1/12 » 55% * 23| 2,655
clXE Y 75,0163 * 298 * 12¢ 1,801
OFSUSESFEF 22N B 25,518
oJlZag 1,153,650% = 1& « 128 13,844
o406l 1,1563,650& * 1 » 400% 4,615
oXMATA+E 160,000& » 1& = 12& 1,920
oA ZAHI 120,0008 18 « 123 1,440
cQA+E 100,000& = 1& = 123 1,200
o JtAH 2 &H| 30,000& = 198 * 12 360
o HE S OtY| 1,153,650& = 55% * 23 1,270
clXE I 72,3683 » 12& 869
Jl=2&dl 26,628 26,628 0
Jl=2 3l 26,628 26,628 0
201 Yet2 | 20,748 20,748 0
01 At2 2t 2l bl 20,748 20,748 0
ORN=2g Jl=2ZHl 250,000& * 12€ 3,000
OMRES P (SAX S) 200,008 » 128 2,400
O=&Hl 7,000& * 218 = 7 x 128 12,348
OHFAMRINI 2285 #¢
300,000& * 50 * 23 3,000
202 o4 Hl 1,680 1,680 0
01 ZLHOHI 1,680 1,680 0
OblaZ22 2UHobl 1,680
203 R =&Y 4,200 4,200 0
04 BH2HAREAY| 4,200 4,200 0
ORN2YAR=TY| 350,0008 * 128 4,200




